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Условие:  

Вычислить интеграл: 

∫ sin3 2𝑥 √100 − 𝑥2𝑑𝑥

2𝜋

−2𝜋

. 

Решение:  

Замечаем, что подинтегральная функция 𝑓(𝑥) = sin3 2𝑥 √1 − 𝑥2 нечётная, так-как 𝑓(−𝑥) =

sin3(−2𝑥) √1 − (−𝑥)2 = (− sin 2𝑥)3√1 − 𝑥2 = − sin3 2𝑥 √1 − 𝑥2 = −𝑓(𝑥) ⇒  𝑓(−𝑥) = −𝑓(𝑥). 

Но для нечётной функции имеем:  

∫ 𝑓(𝑥)𝑑𝑥

2𝜋

−2𝜋

= 0, так − как ∫ 𝑓(𝑥)𝑑𝑥

2𝜋

−2𝜋

= ∫ 𝑓(𝑥)𝑑𝑥

0

−2𝜋

+ ∫ 𝑓(𝑥)𝑑𝑥

2𝜋

0

= замена 𝑦 = −𝑥 = 

= ∫ 𝑓(−𝑦)𝑑(−𝑦)

0

−2𝜋

+ ∫ 𝑓(𝑥)𝑑𝑥

2𝜋

0

= − ∫ 𝑓(𝑦)𝑑𝑦

2𝜋

0

+ ∫ 𝑓(𝑥)𝑑𝑥

2𝜋

0

= 0 ⇒ ∫ sin3 2𝑥 √100 − 𝑥2𝑑𝑥

2𝜋

−2𝜋

= 0. 

Ответ: 0. 
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